
Math 250: Intro to 6.2, 6.3, and 6.4 (Area and Volume) "Find the length of the bar." 
Note: There is no MML homework or textbook section for this skill, which will be needed throughout 6.2-6.4. 

Prepare for the PQ using this packet. 

In general: 
• When finding the length of a vertical bar, use (top y-coordinate) - (bottom y-coordinate). 

• When find the length of a horizontal bar, use (right x-coordinate) - (left x-coordinate). 
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Find the length of each bar i) in terms of x and ii) in terms of y. 
4f.,a ¥ef'ttattbar, for what values of xis the expression a valid length? 
If.ft lim irotrtaf i:,ar, for what values of y is the expression a valid length? 
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Math 250: Intro to 6.2, 6.3, and 6.4 (Area and Volume) "Find the length of the bar." 
Note: There is no MML homework or textbook section for this skill, which will be needed throughout 6.2-6.4. 

Prepare for the PQ using this packet. 

~es\,.(.l-b &U"e ~e \.-,,..,,..~? - s\..-to~J. a\ ..Je bo~\..\;, ..(e n.D-SvJ:b ~o'f ct.\\~, V\ ~ 
In general: """"''J ..J ~ · ..J 

• When finding the length of a vertical bar, use (top y-coordinate) - (bottom y-coordinate). 
• When find the length of a horizontal bar, use (right x-coordinate) - (left x-coordinate). 
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Find the length of each bar i) in terms of x and ii) in terms of y. 
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